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QUESTION 1

Which of the following is correct about MongoDB?

A. MongoDB supports geospatial indexes

B. MongoDB supports some of the SQL functions

C. MongoDB uses JSON format to represent documents
D. MongoDB supports collection joins

Correct Answer: A

QUESTION 2

Consider a collection posts which has fields: Jd, post_text, post_author, post_timestamp, post_tags etc. Which of the
following query retrieves ONLY the key named post_text from the first document retrieved?

A. db.posts.finOne({},{_id:0, post_text:1})
B. db.posts.findOne({post_text: 1})

C. db.posts.find({},{_id:Of post_text:1})
D. db.posts.finOne? {post_text:l})

Correct Answer: A

QUESTION 3

Which of the following index would be optimum for the query?

Select all valid. db.test.find({a: 5, c: 2}) A. db.test.ensurelndex( { c:l, a: 1})
B. db.test.ensurelndex({a:1,c:1,d:1,b:1})

C. CH db.test.ensurelndex( { a :1, c:l})

D. db.test.ensurelndex({ a: 1, b :1, c:l, d:I})

Correct Answer: BC

QUESTION 4
Which of the following are common uses of the mongo shell? Check all that apply

A. Perform queries against MongoDB collections
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B. Perform administrative tasks
C. Use as a JavaScript framework for your production system

Correct Answer: AB

QUESTION 5

Which of the following is true about aggregation framework?

A. Each aggregation operator need to return atleast one of more documents as a result

B. the aggregate command operates on a multiple collection

C. A single aggregation framework operator can be used more than once in a query

D. Pipeline expressions are stateless except accumulator expressions used with $group operator

Correct Answer: ACD
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